
Thermal Pad

4-pin Header

Light Pipe

Dust Filter

NVMe PIPUSB HDMI Adapter MicroSD Extender

M2.5x4
Screw

M2.5x6
Standoff

M2.5x8
Standoff

M2.5x18+4
Standoff

M2.5x5
Standoff

SSD
Screw&Stud

M3.5x10
Screw

Screwdriver

Button Battery

Cross Wrench

Fan

IO ExpanderOLED Screen

Metal Plate 

Power Switch Tower Cooler

EVA Foam Pad

FPC
Power Switch Convertor

Acrylic Plate

R2048
Rivet

R3090
Rivet

2-pin Wire

Z0312V11

SunFounder Pironman 5 Case
Get tutorial at: https://pironman5.rtfd.io 

A

B C

D

E

M2.5 x 4  ScrewM2.5 x 4  Screw

M2.5 x 4  ScrewM2.5 x 4  Screw

Raspberry Pi 5Raspberry Pi 5

Button Button 
BatteryBattery

MicroSD MicroSD 
ExtenderExtender

USB HDMI AdapterUSB HDMI Adapter M2.5 x 18 + 4 M2.5 x 18 + 4 
StandoffStandoff

M2.5 x 18 + 4 M2.5 x 18 + 4 
StandoffStandoff

DISASSEMBLEDISASSEMBLE
分解する分解する

ZERLEGENZERLEGEN

DISASSEMBLEDISASSEMBLE
分解する分解する

ZERLEGENZERLEGEN

4-pin 4-pin 
HeaderHeader

2-pin Wire2-pin Wire

FPCFPC

M2.5 x 8 StandoffM2.5 x 8 Standoff

M2.5 x 6 StandoffM2.5 x 6 Standoff

M2.5 x 5 StandoffM2.5 x 5 Standoff

Plate APlate A

Plate APlate A

Plate BPlate B

1

2

4

9

8

7

6

5

3

1 32



Tower CoolerTower Cooler

M2.5 x 4  M2.5 x 4  
ScrewScrew

M2.5 x 4  ScrewM2.5 x 4  Screw

M2.5 x 4  M2.5 x 4  
ScrewScrew M2.5 x 4  M2.5 x 4  

ScrewScrew

Acrylic Acrylic 
Plate DPlate D

Light PipeLight Pipe

Acrylic Acrylic 
Plate CPlate C

EVA Foam PadEVA Foam Pad

M2.5 x 4  M2.5 x 4  
ScrewScrew M2.5 x 4  M2.5 x 4  

ScrewScrew

M2.5 x 4  ScrewM2.5 x 4  Screw

M3.5 x 10 M3.5 x 10 
ScrewScrew

IO ExpanderIO Expander

Acrylic Plate EAcrylic Plate E

Power Power 
Switch Switch 

ConvertorConvertor

Power Switch Power Switch 
ConvertorConvertor

SSD StudSSD Stud

FPCFPC

SSD ScrewSSD Screw

NVMe PIPNVMe PIP

NVMe PIPNVMe PIP

NVMe PIPNVMe PIP

SSDSSD

R2048 RivetR2048 Rivet

R3090 RivetR3090 Rivet

FanFan

If you have an SSD...

SSD があれば……

Wenn Sie eine SSD haben...

Remove the protective paper.

保護紙を剥がしてください。

Entfernen Sie das Schutzpapier.

Remove the cap.

Kappe entfernen.

キャップを外す。

OLED OLED 
ScreenScreen

RGBRGB
FANFAN

IR RECVIR RECV

FAN2FAN2

FAN1FAN1

Plate BPlate B

Plate BPlate B

Plate APlate A

Wire of Power Wire of Power 
SwitchSwitch

Dust FilterDust Filter

Raspberry Pi 5Raspberry Pi 5

Raspberry Pi 5Raspberry Pi 5

IO ExpanderIO Expander

IO ExpanderIO Expander

12

10

14

13

11

15

16

17

18

19

22

24

26

27

28

OK

21

23

25
OLED ScreenOLED Screen

IO ExpanderIO Expander

20

Insert

Push

Lock

Push
Push

2

2

1

1

3

3

Acrylic Plate EAcrylic Plate E

Power SwitchPower Switch

Thin NutThin Nut

Thermal PadThermal Pad

Stick it on.

貼ってね。

Klebe es auf.

Finish! Browse https://pironman5.rtfd.io to get started.

完成！ https://pironman5.rtfd.io で使用開始。

Fertig! Beginnen auf https://pironman5.rtfd.io.


